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Sr Questions Answers Choice

1 Mining is considered as man's:
A. Primary economic activity
B. Quinary economic activity
C. Secondary economic activity
D. Tertiary economic activity

2 Evolution of modern civilization is dependent upon:
A. Agriculture
B. Minerals
C. Education
D. Human effort

3 From economic point of view, iron is world's most:
A. Useful &amp; cheap metal
B. Costly metal
C. Rare metal
D. Rare available metal

4 People are aware about iron use:

A. For thousand years
B. Since 5000 B.C
C. In 1750 A.D during industrial
revolution
D. Were not aware until 18th century

5 In the world, percentage of iron production among metals is:
A. Only 25 percent
B. 90 percent
C. 50 percent
D. About 70 percent

6 According to June 1990 estimates, ironore reserves of the world are:
A. 300,000 million metric tons
B. 100,000 metric tons
C. 50,000 metric tons
D. 1000 million metric tons

7 In 1990, world's largest producer of iron ore was:
A. Russia
B. United States of America
C. China
D. India

8 During 2001, world's iron ore production was:
A. 1000 million metric tons
B. 500 million metric tons
C. 580 million metric tons
D. 2000 million metric tons

9 In 2001, world's largest iron ore producer was:
A. U.S.A
B. Russian Federation
C. Brazil
D. Australia

10 In the world, Australia ranks in iron ore production:
A. At first position
B. At second position
C. At fifth position
D. At not any position

11 Brazil's largest iron ore deposits are in:
A. Minas Geras
B. Paraba valley
C. Bahia
D. Mato Grasso

12 In 2001, Brazil' s iron ore production was:
A. 50 million metric tons
B. 100 million metric tons
C. 125 million metric tons
D. 200 million metric tons

13 In the world, China's position in iron ore production is:
A. Not very important
B. Very important
C. Very unimportant
D. At third position

14 China's largest iron ore deposits are located:
A. In Manchurian region
B. In Sin Kiang region
C. In Yangtze valley
D. In Se-Kiang region

15 U.S.A' s largest iron ore deposits are located in:
A. Alabama &amp; Birmingham state
B. Lake Superior region
C. Western mountainous region
D. Alaska state



D. Alaska state

16 From economic point of view, iron ore is useable, which contain iron particles:
A. More than 10 percent
B. At least 20 percent
C. Up to 30 percent
D. More than 50 percent

17 In magnetite iron ore, iron particles percentage:
A. Is up to 60 percent
B. Is near about 50 percent
C. Is up to 72.4 percent
D. Is about 90 percent

18 In haematite iron ore, iron particles content:
A. Is 60-70 percent
B. Is up to 50 percent
C. Is near about 40 percent
D. Is up to 45 percent

19 Iron ore deposits found in Kalabagh (Mianwali) are:
A. Magnetite
B. Haematite
C. Limonite
D. Siderite

20 Iron ore, after first stage smelting is called:
A. Wrought iron
B. Cast iron
C. Pig iron
D. Raw iron

21 According to June 2015 estimates, iron ore reserves of the world are:
A. 190,000 million metric tons
B. 100,000metric tons
C. 50,000metric tons
D. 1000million metric tons

22 In 1990, world's largest producer of iron ore was:
A. Russia
B. United States of America
C. China
D. India

23 During 2015, world's iron ore production was:
A. 1000million metric tons
B. 500million metric tons
C. 3,320million metric tons
D. 2000million metric tons

24 In 2015, world's largest iron ore producer was:
A. U.S.A
B. China
C. Brazil
D. Australia

25 During 2015, Brazil's iron ore production was:
A. 50 million metric tons
B. 100million metric tons
C. 428million metric tons
D. 200million metric tons

26 U.S.A's largest iron ore deposits are located in:
A. Alabama &amp; Birmingham state
B. Lake superior region
C. Western mountainous region
D. Alaska state

27 From economic point of view, iron ore is useable, which contain iron particules:
A. More than 10 percent
B. At least 20 percent
C. Up to 30 percent
D. More than 50 percent

28 Iron ore, after first stage smelting is called
A. Wrought iron
B. Cast iron
C. Pig iron
D. Raw iron

29 In the world, iron ore production in 1990 was:
A. 100 million metric tons
B. 1000million metric tons
C. 500million metric tons
D. 976million metric tons

30 In France iron ore deposits are located in:
A. Lorain valley
B. Normandi region
C. The basin of River Lore
D. Garon region

31 India's largest iron ore deposits are in:
A. Singhbhum
B. Madhya Pradesh
C. Maharashtra
D. Jabalpur

32 In Europe, Lorain valley iron ore deposits are:
A. Very important
B. Not very important
C. Very large
D. Europe's largest deposits

33 In the continent of Europe, in iron ore export, Sweden is:
A. Most important country
B. Unimportant country



33 In the continent of Europe, in iron ore export, Sweden is: B. Unimportant country
C. An important country
D. Not an important country

34 In the world, Brazil, Australia, Sweden, Canada, India & South Africa:

A. Are iron ore exporting countries
B. Are not iron ore exporting
countries
C. Can export iron
D. Are most important iron exporting
countries

35 Japan, South Korea, Germany, U.K, Italy and U.S.A are iron:
A. Exporting countries
B. Importing countries
C. Most important importing countries
D. Not importing countries

36 Pakistan imports iron ore in:
A. Large quantities
B. Small quantities
C. Very large quantities
D. Not import iron


